
 
 
 
 
 
 
 
 
 

 

Name/ Index no. : ………………………………………………………………………………… 
  
 Part I 

* Answer all the questions. 
 

1. Write the general term of the number pattern 4, 8, 12,16, ......... 
 
 
 
 
 

2. List out the elements of the following set using a venn diagram. 
 A = {Letters of the word “MAHARAGAMA” }  

 
 
 
 

 

3. Simplify 9t 304kg÷ 8. 

 
 
  
 

 
4. Find the value of (‒4)2 × 32 

 
 
 
 
 

5. Calculate the perimeter of the given figure. 
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Visakha Vidyalaya Colombo – 5,  Visakha Vidyalaya Colombo – 5,  Visakha Vidyalaya Colombo – 5, Vi 
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6. Are the two angles x and y in the figure adjacent angles? Give 
reasons. 

 

 
 
 

 
7. Write the number of faces and number of vertices in regular dodecahedron. 

 
 
 
 

 

 
8. Write the value of the complement of 38º. 

 
 
 
 

 
9. Fill in each cage with suitable directed numbers. 

 
 

 
 

10. If the area of a square land is 196m2, Find the perimeter of it. 

 

 

 

 

 
11. If PQ and ST are straight lines, find the value of a°? 

 

 

 

 
12. 12xy + 8y2 Write the above algebraic expression as a product of two factors. 
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13. Simplify. ‒4(5x ‒ 2y + 3) 

 
 

 
14. Find the value of (‒ 6) ‒ (‒ 5) using the number line given. 

 
 
 
 

 

15. Express the area of the rectangle given using algebraic expression and 
simplify it. 

 

 
 
 

 

16. Arrange in ascending order. 

  (‒1)3 , (‒2)3 , (‒2)4  

  
 
 

17. In a solid with straight edges, number of edges is 9, number of faces is 5. Using the Euler’s 
relationship find the number of vertices. 

 
 
 

 

18. (5 × 2 × 3)2Express as a product of power and evaluate. 
 
 

 
 

 
19. Find the square root of 484 using prime factors. 
 
 
 
 
  

 

20. Write the algebraic expression given as a product of two factors such that one factor is a 
negative number.  
‒6a + 42b – 18 

  
 
 

* * 
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Part II  

* Answer 05 questions only. 
 

1. (a) In the number pattern 12, 24, 36, 48, ............. of the multiples of 12 starting from 12 
and written in ascending order. 
(i) What is the general term?     (2 marks) 

 (ii) What is the 15th term?      (2 marks) 

 (iii) Which term is 288?       (2 marks) 

 (iv)  Is 424 is a number of this number pattern? Give reasons.   (3 marks) 

(b) What is the smallest multiple of 4 larger than 100?  (1 mark ) 
 Which term is it in the number pattern of the multiples of 4 starting from 4? (2 marks) 

 
2. (a) If the perimeter of a wooden lamina composed of a square and 4 equilateral driangles 

with base equal to a side of a square is 320cm. 
 

(i) Find the length of a side of the square? (2 marks) 
 

 (ii) Find the perimeter of the equilateral 
triangular shaped wooden lamina?  (2 marks) 

 

 (iii) If the ribbon is to be fixed around this 
decoration, find the minimum length of the 
ribbon needed for 55 such decorations. (3 marks) 

 

(b) (i) Find the number of times a lorry with the goods loaded in it, has to transport a 
weight of goods of 1394t, if the maximum load it can carry at one time is 8.5t? 

     (3 marks) 
 (ii)  If this lorry consumes 4l of fual for one trip, find the total amount of fuel 

consumed for transporting the above goods.   (2 marks) 
 

3. (a) Find the value.  
 (i) (+4) – (+7)       (1 mark) 

 (ii) ቀ+4
ଵ

ଶ
ቁ ‒ (-3) ‒ ቀ−

ଵ

ସ
ቁ      (2 marks) 

 (iii) (+17.5) + (–15.7)       (2 marks) 

 (iv) (–5.3) × (–24)       (2 marks) 

 

 (v)    (2 marks) 

 
(b) Find the value of S𝑂෠R.       (3 marks) 
 
 
 

 
 
 

-4- 

[See page four 
 

(–9) × (–8) × (+4) 

(–4) × (+3) × (–6) 

160º 
30º 

O 

P 

R 

S 

mathematica.lk

mathematica.lk



 
4. (a) (i) The length of a rectangular shape lamina is “p” 

meters and its breadth is “q”meters. 
As given in the diagram a square shape section 
of side length“q”was removed. 
Express the area of the remaining part 
(unshaded part) by an algebraic expression and 
simplify it.   (3 marks)  

 

 (ii) If p = 5m and q = 2m, Find the value of above expression.    (2 marks) 

 

(b) If x = ‒1, y = 2 andz = 3find the value of following expressions. 
 (i) 2x + 3y   (2 marks) 
 (ii)  3(4z‒y) + 2x   (3 marks) 
 

(c) Find the value of  √784.    (2 marks) 
 

5. (a) (i) Show that 27x3= (3x) 3      (2 marks) 

 (ii) Show that (‒1)2001>
ଵ

ଶ
       (2 marks) 

 

(b) Find the highest common factor of algebraic expressions. 
(i) 2x2, 3xy   (2 marks) 
(ii)  4a2, 8ab, 2abc   (2 marks) 

 

(c) Write the given expressions as a product of two factors. 
(i) 9x + 27xy   (2 marks) 

 (ii)  3a2 + 12ab   (2 marks) 
  

6. (i) What is the shape of a face regular Octahedron?    (1 mark) 
 

(ii) Find the number of faces, vertices and edges of that solid.    (3 marks) 
 

(iii) Name another two platonic solids which has the same of faces as in regular 
octahedron.       (2 marks) 

 

(iv) Name two special features of platonic solids.       (2 marks) 
 

(v) Find the number of faces, vertices and edges in the given 
composite solid. 
Faces  ……………… 
Vertices  ……………… 
Edges ……………… 
 

Show that it satisfy Euler’s Relationship.   (4 marks) 
*** 
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